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First Semester Three Year LL.B. Examination, January 2011
CONTRACT —1 (Course—1) (General Principles of Contracts)

Duration : 3 Hours

Instructions : 1. Answer all 5 questions.
2. One essay type and one short note question or problem
from each unit have to be attempted, which is referred as

Q. No. 1.(3)

(b)

part (@) and (b) in all the units.
3. Figuresto theright indicate marks.

Max. Marks : 100

4. Answer should be written either in English or Kannada

completely.
UNIT — 1

Define offer. Explain the rules relating to valid offer.
@@dﬁoﬁﬁg{ DIRR. OB TRIDIN ROWORRT @oﬁodsﬁ%ﬁd&
STORO.

OR/esg3z50

“An agreement without consideration is void”. Discuss.

" BETONVT SRRERORTOT LFOTRY WBRWFS . WSO

Solve the following problem :

3SNS #mﬂgojmi QPO :

“A” out of natural love and affection promises to give his son
“B” Rs. 1,000 under a registered document. Is it a valid
contract ?

T QowER BT K8 WY wREYT Aewtmen ' oW B3
SN 20w BRoToRE BREs Swes 1,000 de. ndsy
QETOO TOMIT BREIT]E. 85 FTT ROTTITIT ?

OR/es53z30

“A” agrees to sell his Lunato his friend for Rs. 4,000/- or
Rs. 5,000/-. His friend agrees to purchase. Is this agreement
contract ?

Y D Y RYODAN BZ LTI, WY, MWIT BER R DT
CRFTIOWN RIRTLD WP 083 NP0 %@océam%@wﬁ mﬁ@aﬁ. =t
LBOWERT BTIT ESMTOTC ?

Marks : 15

Marks: 5

P.T.O.
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Q. No. 2.(a)

(b)

Q. No. 3. (3

(b)

2- L]

UNIT —11I

“Certain persons are incompetent to contract”. Discuss. Marks : 15
30 wITO BT BIRRBRY LD WEBFTY . WA

OR/es53z30
Discuss the doctrine of public policy.
TRERIT A0S DOTTER0 ? 33RO,
Solve the following problem : Marks: 5
BINT FSOR 0BT AedF oA :
“A” aminor has lent Rs. 1,000/- against the promissory note
executed in his favour. Is borrower liable ?
‘Y Q0w wIRE BODFR e TPw $oed 1,000/- Srmwon
MPOBR), BRUTIWS. WO TETII WG e ?
OR/esg3z30

“A” while hiswife“B” isalive promised to marry “C” in the
event of B’s death. Subsequently “B” died. But “A” refuses
to marry, “C”. Advise “C".

“A7 0 3’&); Tore “B” 0To3To0mon 9med :fg’)o’ “C” %fa’oq
VOTOBOIRMOR)TON =233 eEozs. “B” 78 e, “A” 20" C’ %i
BT SN JTFORIBYS. C’' i o3 Qe&0d.

UNIT =111

Explain the doctrine of frugtration with referenceto decided cases. ™ Marks: 15
“eszR30n 3%” d?p‘i EERREIS TFCEMNS &S00 WoeS LTORO.
OR/ &5z
Define breach of contract. Discuss kinds of breach of contract.
LTOTT  WYOPTCITY, Y0, WTOTT YOQOTFIOD DT
TFITMIR, 2R RO.
Solve the following problem : Marks: 5
3SNT RO, 0D AGFOR:

A musical hall was agreed to be let out on certain day. But
before that, it was destroyed by fire. I's the promisor absolved
from the contract.



Q. No. 4. (3

(b)

-3-
AND TRAIT DITOTY 2.0T0 HONCSBT '@@d@ojosgt WRRNT BRBD
zao,—u;odmﬂdogd & OIC BTG ST o300 BATE THT@NIT.
WITTTR WBI00T WNFFE ?

OR/es53z30

A, B and ‘C jointly promise to pay Rs. 30,000 to “D”. “B”
becomes insolvent. Discuss the liability of A, B and “C”.

A, B @3 “C” wigrt 30,000/~ Sn. woee Sn@Ees “D”art s
3REOTT. wwd “B” T Gme sromd. A, B 30y “C” oxs
m%’m@éoﬁa{% 233 R0.

UNIT -1V

“Damages are compensatory and not penal”. Elucidate.
“ TN BOTTES, BOTTHE B0 ToBRY,”. DITLARD.

OR/esg3z30

Explain the principle of “Remoteness of damages’, with
special reference to Hadley Vs. Baxendale case.

" R0 SFFN ©oHT” %m@o@dﬁg{ Gl é)docg) IOBOTEL FITEAT
QIR SHITE R0eeS LIOD.

“x” adealer in fruits leaves a packet containing fruitsat “y”’s
house by mistake. “y” consumes those fruits. Can “Xx” recover
money ?

X7 ORE W) BT IR0 Y 8 SoSeDY, T TP
RTB e, Feerozs. Y & Teandd, S|, 1Y & g E?

OR/esg3z30

A mate was engaged for lumpsum to be paid after the
completion of voyage. The mate dies when only 2/3"d of
voyagewas complete. Hislegal representatives claim damages
on gquantum merit basis. Decide.

22 T 5’@033@@@@033&3{ 2000 AROTOERT 0NN oS,
BRIT T BRRD TTIO[R TIRROWI2. 2/3 Fe N B30T 3R
WONCINT DR & T FTOIT WHTO A0V, Fewn 3@
TEFOT SEOTE e Ty, WOTTHN ered BYR0TT. AFFORO.
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Marks: 15

Marks: 5
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UNIT -V

Q. No. 5.(a) “Specific relief isajudicia discretionary remedy”. Comment. Marks : 15

(b)

“R0F R AR BOTT) [OWT DFEIIA R WSRO0,
OR/es53z30

Who may obtain specific performance of contract under the
Specific Relief Act ?

QOFE, VDTS 903, TFT TTOT ADF R, WSOTRIDT, 083TV
TEOIWTOT ?
Write short note : Marks: 5
£33 2080000 :
What is injunction ?
26 95 HomTeRd ?

OR/es53z30

Rectification of instruments.
QDT TN w%m




